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Time allowed: 20 Minutes

MATHEMATICS SSC-I

(For Hearing Impaired Children)
SECTION — A (Marks 15)

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.

Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circie the correct option i.e. A/ B/ C [ D. Each part carries one mark.

6)] The characteristic of log 25is:

A. -2 B. 2 C. I
(i 3x10) = |
A 0 B. 3 C. 30
(i) In 9x* the exponent is:
A. 4 B. 9 C. X
(v)  Degreeof 3x*y+5y” is:
A. 3 B. 4 C. 5
(v) Ifx:4—\/ﬁthen§=
A —4+17 B 4417 c.  —4-17
(vi) (7-2X7+2)=
A. 45 B. 25 C 36
i) (=) YY) =
A xt—y? B. x° »«~y3 C. x* -yt
(viiy  If the sum of two angles is 90° then they are called angles.
A Acute B. Adjacent C. Supplementary
_ {1 0} , .
() is a matrix.
0 1
A A Unit . B. Diagonal C. Null
{x) In an isosceles triangle sides are congruent.
A Two B. Three C. Four
. [b a} _
(xi) The order of is:
d ¢
A. 1x2 B. 2x1 C. 2x2
iy (-4 =
A. -16 B. +16 C. -8
(xif)  8x’ +6x" +4x+5 is written in
A Ascending B. Descending C. Rational
i) (=2) =
A. 2° B. -2° G 57
(v)  x=
A xt B x c. X
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MATHEMATICS SSC-I
(For Hearing Impaired Children)

Time allowed: 2:40 Hours Total Marks Sections Band C: 60

NOTE:- Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately

provided answer book. Use suppiementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Q.2

Note:

Q.3
Q.4

SECTION — B (Marks 36)
Attempt any TWELVE parts. All parts carry equal marks, (12x3=1386)

(i) “Simplify 180

1
{ii) Rationalize the Denominator:
J3+2

{iii) Write in Scientific Notation 5566000.

. 64 128
(iv) Write in ascending and descending order 4x* +96+ —+—+ 32x*(x # 0)
x  x

(v)  Write in the Logarithmic form 4° =1024

42
. Simoli
{vi) implify _64

(vily I P(y)=%+2y2—1  find P(<2)
y

(vii)  Find the product (x+3)(x* —3x+9)

(ix) Factorize x°-+1

00 Multily the matrices | - |
b 4 [B11¢) 2 maltrices
e 1 37

(xi)  Find the H.C.F by Factorization x*, xy, x*}’
{xii) Define Parallel Lines with diagram.
(xii)  Find the value with the help of suitable formula (1 005)* .
(xiv) SubtractPfrom Qif. P=2x+3y-4z-1 ; QO=2y+3x—4z+l
(xv)  Simplify 4128
—2m

4
(xvi)  Simplify and write the answer in positive exponents {———}

55 2 3
(xviiy I A= and B = then find the value of 4+ B
4 9 1 4
{(xvii) Use formula to find the product of (2a+25)(2a— 2b)(4a” +4b%)

SECTION — C (Marks 24)

Attempt any THREE questions. All questions carry equal marks. {3 x 8 =24)

Construct triangle ABC when, mCA=3.6cm , mBC =3.9¢m and mAB=42cm
Construct angles of the following measures with the help of scale and compass:

(i) 30° i  120°
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45 21024 _ e B5Y
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mAB =42cm mBC =3.9cm « mCA =3.6cm Ui b ABC 2
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